INOX

Stainless
Steel

i &

. AISI303 7 4 4 A 1k,

- AISI30341 £ A 45444 .

 ROREERBREPATHEESEMA, TAWERLRAA AK
B, AR, MLk, A AR E AL A

- B AT(G, GKA), TREEF ERA6 w4, AFKEHTHRE
B M3 A B EDLA

- REREEFAK, GKA),

3

A AK iiﬁﬁ%%ﬁﬁﬁHM%ﬁ&%gGN&B%%%W%%*E@%@
(% 4 B 7F 4) o
AISI303 T4 AR Akt , (BB R A E AR AT, {T
T I o
h___ﬂJ fol 35 T AN BRI A R
- TGS AELTON6131, Htk bwamig, TadensnE R
WA AT B M,
G #l GK #

I4_—.._
|
=

uJ ]
il
U

R HE H 52 W24 7]
B2 d 2% L dis  do D | I ls ?ﬂf ﬂﬁffﬁ ; )
GN 613-5-A-N| 5 18 M10x1 : 21 22 5 i 6 15 18 |GN 613.1-5
GN 613-6-A-N| 6 25 MI12x15 - 25 26 6 i 8 21 29 | GN 613.1-6
GN 613-8-A-N| 8 27 M16x15 - 31 34 8 i 9 26 62 |GN613.1-8
GN 613-10-A-N| 10 27 M20x15 - 31 43 10 i 17 40 92 | GN 613.1-10
GN 613-5-AK-NI 5 18 M10x1 : 21 22 5 i 6 15 25 | GN 613.1-5
GN 613-6-AK-NI 6 25 MI2x15 - 25 26 6 i 8 21 38 |GN613.1-6
GN 613-8-AK-NI 8 27 M16x15 - 31 34 8 i 9 26 82 |GN613.1-8
GN 613-10-AK-NI 10 27  M20x15 - 31 43 10 i 17 40 127 |GN613.1-10
GN 613-5-G-NI 5 18 M10x1 M5 21 22 5 6 6 15 14 |GN613.1-5
GN 613-6-G-NI 6 25 MI12x15 M6 25 26 6 10 8 21 19 |GN613.1-6
GN 613-8-G-NI 8 27 M16x15 M8 31 34 8 12 9 26 50 | GN 613.1-8
GN 613-10-G-NI 10 27  M20x15 M8 31 43 10 12 17 40 88 |GN 613.1-10
GN 613-5-GK-NI 5 18 M10x1 M5 21 22 5 6 6 15 21 | GN 613.1-5
GN 613-6-GK-NI 6 25 MI12x15 M6 25 26 6 10 8 21 37 |GN613.1-6
GN 613-8-GK-NI 8 27 M16x15 M8 31 34 8 12 9 26 82 |GN613.1-8
GN 613-10-GK-NI 10 27  M20x15 M8 31 43 10 12 17 40 123 |GN613.1-10

“‘ELESA” and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

‘€lesa-BGANTIR )




